
Ca3PI3 Structure:
A3B3C cI56 214 g h a-001
This structure originally had the label A3B3C cI56 214 g h a. Calls to that address will be redirected here.
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Other compounds with this structure
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Body-centered Cubic primitive vectors
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8a ŷ + 3
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ẑ (24g) Ca I

B12 = −
(
y2 − 1

8

)
a1 −

(
2y2 − 1

4

)
a2 −(

y2 − 3
8

)
a3

= −a
(
y2 − 1

4

)
x̂ + 1

8a ŷ − ay2 ẑ (24g) Ca I

B13 =
(
y2 + 3

8

)
a1 +

(
y2 + 1

8

)
a2 +(

2y2 + 1
4

)
a3

= ay2 x̂ + a
(
y2 + 1

4

)
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ŷ − 1
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ẑ (24h) I I

B21 =
(
y3 + 1

8

)
a1 + 1

4 a2 −
(
y3 − 3

8

)
a3 = −a

(
y3 − 1

4

)
x̂ + 1
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8a ŷ − a
(
y3 − 1

2

)
ẑ (24h) I I

B23 =
(
y3 + 3

8

)
a1 +

(
2y3 + 3

4

)
a2 +(

y3 + 1
8

)
a3

= a
(
y3 + 1

4

)
x̂− 1

8a ŷ + a
(
y3 + 1

2

)
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